	Cis 350, 2003   QUIZ #4 (Total: 10 points)

NAME:


(3 points)

Please show the results for the following picture, structuring element and operation given:
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(4 points)

Please show the results for the following picture, structuring element and operation given:
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(3 points)

Erosion of a set A by B is a subset of A as long as the origin of B is contained in B. Give an example for a structuring element B such that the result of erosion is partially outside of A ! For the example, let A be the picture of question 1.
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